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Complete the series : :
2, ,'_5,;':7, 10, 12, 15, 17, 20, ? by selecting
suitable number. '
(A)723 (B) 24
D) 25

(C) 22

Thé difference between a number and its
three-fifth is 50. What is the number ?
(A) 75 (B) 100

(C) 1256 (D) None of these
The congress session which declared

‘Purna Swaraj’ was held in
December 1929 at
(B) Delhi

(A) Lahore ~
(C) Islamabad (D) Bombay
computers are the most

powerful computers made and physically
they are some of the largest.
(A) Mainframe (B) Mini
(C) Nano (D)¥Super

was the Chief Justice of the higk
court of Punjab and Haryana when tb”
Haryana State came into existance’
November 1966.
(A Justice Ramlal
(B) Justice Mehar Singh
(C) Justice Harbans Singh
(D) Justice A. B. Saharya

Galvanisation is a process of coating steel
with a thin layer of

(A) Al (B) Zn

(C) Cu (D) Ag

The and keys let you move the
cursor to the beginning or end of a line.

(B) Home, Insert

(A) Home, End >~
(D) Esc, Home™

(C) End, Delete
e for creating text-based

softwar
newsletters or brochures.

documents such as
(A) Spreadsheets
(B) Database management system

(cyWord processing

(D) Presentation program, —x 3 _ Y5
Z5, KD - _______?_(_2 e
2S5
15
42

s 0O
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10.

11.

12.

13.

14.

" (A) Keyboard controller

In a traditional mainframe environment,
each user accesses the mainframe's
resources through a device called a

(A) Roller (B) Pointer
(C) Terminal (D) Printer

What is Barter system ?
(A) It is a trade in which goods are

exchanged with the use of Digital
Money
(B) It is a trade in which goods are
exchanged with the use of Money
(C) Itis a trade in which goods are
exchanged without the use of Money
(D) None of the above

He is considered to be the architect of
modern Haryana. He served 3 separate
terms as Chief Minister of Haryana. The
above lines refer to

(A) Bhajan Lal

(B) Bansi Lal

(C) Chaudhary Devi Lal
(D) Om Prakash Chautala

The number of electrons constituting
Coulomb of charge

(A) 6.25 x 10%
(B) 6.25 x 10°*
(C) 6.25 x 10"
(D) 6.25 x 10*®

Which among the following award is
given by Haryana Govt. for life time
contribution in sports for men ?

(A) Vikramaditya Award

(B) Dronacharya Award :
(C) Maharana Pratap Award
(D) Ekalavya Award

&= is a temporary storage area that
holds data until it can be processed.

(B) Buffer
(C) System software
(D) Central Processing Unit (CPU)
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(A) 6.25 x 10
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‘_Which among the following statements
is/are true as per 2011 census ?
1. Rural male literacy rate of Haryana
was 84.06%.
2. Rural female literacy rate of Haryana
was 65.94%. ;
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

How many biosphere reserves have been
setup in the country at present ?

A 11 (B) 15

(C) 18 (D) None of the above

The first female speaker of Haryana

Vidhan Sabha was
(A) Sumitra Mahajan (B) Meera Kumar
(C) Shanno Devi (D) Sushma Swaraj

A __ can copy a printed page of text or a
graphic into the computer’s memory, freeing
you from creating the data from scratch.
(A) Trackball - (B) Microphone
(C)JScanner (D) Touchp»-

is not only unwanted, 1 clogs
your email accounts and uses~  "essary

server space.
(A) Draft emails (B) opam emails
(C) Reminder emails (D) Spyware

The generic term refers to any

piece of hardware.

(A) Program

(Cf Device (D)/Data
introduced under which a

o i with BPL card can go

senior citizen .
t Government expense 18

(B) Instruction

pilgrimage a
called as

(A) Beti Bachao
(C) Buda Bachao

programs
illustrationsor manipulatingp
movies or animation.
(A)%aphic
(C) Multimedia

(B) Sri Darshan
(D) Tirtha Darshan

for designing
hotographs,

(B) Presentation
(D) Web design
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28.

29.

30.

“(A) Weak

Why the oceanic crust is also called as

sima ?

(A) The oceanic crust mainly consists of
Silica and Magnesium vV

(B) The oceanic crust mainly consists of
Silica and Manganese

(C) The oceanic crust mainly consists of
Silica and Alumina

(D) None of the above

An terminal can perform some
processing operations, but it usually does
not have any storage.

(B)*Dumb

(C) Intelligent (D) Powerful -

The first battle of Tarain was fought in
the year
(A) 1194
(C) 1191

(B) 1193
(D) 1192

In KO,, each oxygen atom is assigned an
oxidation number of

‘A -1
(C) -0.5

The most common type of-personal
computer is the computer — a PC
that is designed to sit on a desk or table.
(A) Notebook (B) Workstation
(C) Desktop (D) Handheld

®B) -2
(D) +0.5

Complete the series :
2, 3, 6, 7,-11, 13, 17, 19, ? by selecting
suitable number.

(A) 21 (B) 23

C) 27 (D) 29

Saina Nehwal won Bronze medal at the
London Olympic held in

(A) 2016 (B) 2012

(C) 2008 (D) 2004

Select the word which comes last when
arranged in alphabetical order.

(A) Dialogue (B) Diaphragm
(C) Dialect (D) Diagonal
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32.

33.

34.

35.

36.

37. .

In President Rule was imposed in

Haryana for first time.
(A) 10" April, 1969

(B) 21** November, 1967
(C) 12" December, 1970

(D) 20* March, 1965

Who among the following Politician
of Haryana served as Deputy Prime

Minister of India ?

(A) Chaudhary Devi Lal

(B) Om Prakash Chautala
(C) Bhajan Lal

(D) Bhupinder Singh Hooda

Personal computers are also called
because they are among the smallest
computers created for people to use.

(A) Nanocomputers (B) Microcomputers
(C) Minicomputers (D) Macrocomputers

Which of the following State has the
largest Mangrove cover in the country
according to ISFR 2019 ?

(A) Odisha (B) West Bena:
(C) Tamil Nadu (D) None of,.._: above
The keys are called mo, .ier keys.

(A) Shift, Ctrl, AltV
(B) Shift, Ctrl, Esc

(C) Ctrl, Alt, Del

(D) Alt, Shift, Enter”

The amendment of the Indian
Constitution which is known as
‘anti- defection amendment’

(A) 52 (B) 24*
(C) 42™ (D) 62

A stores dataon both sides of its
disk (numbered as side 0 and side 1), and
each side has its own read/write head.
(B) CD-ROM

(D) RAM

(A) Diskette
(C) DVD-ROM
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39.

40.

41.

42,

43.

Of the three numbers, the sum of the first
two is 45, the sum of the second and the third
is 55 and the sum of the third and thrice of
the first is 90. The third number is

(A) 20 (B) 25
(C) 30 D) 3

is a set of instructions that
makes the computer perform tasks.
(A) Data (B) Software
(C) Hardware (D) Process

Consider the following statements about
Arvind Kejriwal.
1. He was awarded with the Ramon
Magsaysay Award in 2006.
2. He is national convener of Aam

Aadmi Party (AAP).
3. He was a former Indian Administrative

Service Officer.
Which of the above statements are corx
(A) 1and 2 (B) 2and 3
(C) 1and 3 (D) All th Ve

Pointing towards Riya, Ni ad “I am
the only son of her mother'sison”. How is
Riya related to Nitin ? '

(A) Niece (B) Cousin

(C) Mother (D) Aunt

A terminal does not process
or store data, it is simply an input/output
device that functions as a window into a
computer located somewhere else.

(A) Dumb (B) Powerful
(C) Intelligent (D) Weak

A popular type of handheld computer
is the

(A) Personal Digital Assistant

(B) Popular Display Assistant

(C) Perfect Digital Assistant

(D) Personal Display Assistant
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Who was the first Indian woman to win a 44. SfHfos O & gew Shay arch & £
medal in the Paralympic Games belonging S i S o
to Haryana ? v .
(A) Deepa Malik (A) arwfer @
(B) Geetika Jakhar (B) TiifereRt SES
(C) Seema Punia Antil (C) Himn i sifaer
(D) Mamta Kharab () REGIRCUE
A enables you to input your voice | 45. Th 3Tl STTETS 1 EIG B 3fhe H I A
or music as data. 2T T A G sl 21
(A) Microphone v (B) Monitor (A) TTEHIBIA (B) A @
(C) Keyboard (D) Scanner (C) s D)
What mathematical operation should | 46. WHFRW2?6-12+4+2=11 T 9 F T
come at the place of ‘7’ in the equation ? @ g1 T 9fErE T
2?76-12+4+2=11
“ ) A) + ®) -
(A) + B) - A) i
(C) x D) + )= D) -
- computers are used in large 47 Wa@.‘ia@mﬁé?ﬁimawﬁd’l
ﬂrmﬁom}fuch B L S grompamﬁs C et e R T &, STl S i bl
and banks, where many people frequently "
need to use the same data FR-R T ana%ya‘mzmﬁ qed g | G
(A) Mini (B)*Mainframe : A) ot (B) HTHA J
(C»Super (D) Nano (C) qx D) EC|
Which of the following bird sanetuary is 48. ﬁﬁ%‘gﬂﬁ | ﬁ%iﬁq-m af faew afemon &
located in Gurugram of Hg_ryﬁha ? e i?% aﬂ
(A) Bonal Lake Bird Sanctuary &) s &ﬁq ferem
(B) Bharatpur Bird Sanctuary (B) @I faer s !
(C) Sultanpur Bird Sanctuary (C) GeargR T&ft faen
(D) Salim Ali Bird Sanctuary (D) T 37t veft fagn
The East Punjab High Court of Judicature | = 49 e g I RIS T |
was established at ____0n 15" August 15 37T 1947 & §.§ | D
1947. \ (Af 5z B)
Chandigarh (B) Delhi : feeett
?é; Shj{:::lag (D) Patiala (C}"ﬁiiﬁr (D) gt
Which famous academician of Haryana 50. =fmn % e ufag fimﬁ“azﬁ; FH AR
had served as the Governor of Kerala and TSIId % '{l’\?\‘?lfﬂ?l FeudwmEme?
Gujarat ? (AT Ty fSraat
(A) Om Prakash Jindal (B) T TR
(B) Sushma Swaraj (C) = e
(C) Swaraj I'{aushal o i
(D) Sarup Singh 5
-8- 2%f =T
s 2 YO+l
12,, —_ :.’5 3 2
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51.

52.

53.

64.

56.

are the empty spaces along the
left, right, top and bottom of a page.

(A) Indents (B) Tables
(C) Margins (D) None of these

is the highest award of State
Govt. for the outstanding players of
Haryana.
(A) Bhim Award
(B) Maharana Pratap Award
(C) Rani Laxmi Bai Award
(D) Guru Vasisht Award

Match the following and answer using
the codes given below :

List -1 List - 11
1. Establishment of 1. 1498
the Vijayanagara
empire
ii. Vascoda Gama 2. 1526
reaches India
i1. Establishment of 3. 1336
the British East
India Company
iv. The First battle 4. 1556
of Panipat
5. 1600

Codes :
(A)1-3,n=1,11-5,iv—-2
B)i1—-4,1i-=56, 11 -2 iv-1
(C)i1=-3,11=1, 1= 1iv=2
MD)i1-2,u-1,m—-4,1v-3

consist of individual facts or
pieces of information that by themselves
may not make much sense to a person.
(B3) Program
(1)) Resources

(A) Instruction
(C) Data

Some memory chips retain the data they
hold, even when the computer is turned
off. This type of permanent memory is
called

(A) Volatile
(C) Erasable

B)” Non-volatile
(D) Non-erasable

-9-
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In any windows application, a

shows you where the next character will
appear as you type.
(A) Horizontal bar
(C) Blinking bar

(B) Diagonal bar
(D) Dotted line

A bullet moving with a velocity of 100 ms™
can just penetrate two planks of equal
thickness. The number of such planks
penetrated by the same bullet, when the
velocity is doubled will be

(A) 4 (B) 6

©) 8 (D) 10

Who among the following has been
speaker of Haryana Vidhana Sabha for
maximum number of times ?

(A) Kuldeep Sharma
(B) Harmahendra Singh Chadda

(C) Satbeer Singh Kadian
(D) Ashok Kumar Arora

A is usually a powerful perso”
computer with special softwar” i
equipment that enable it to fr .1 as
the primary computer in thr work.
(A) Network server

(B) Workstation
(C) Personal Digital Assistant (PDA)

(D)*Handheld

The largest can handle the
processing needs of thousands of users
at any given moment.

(A) Nano computers (B) Mini computers

(C) Mainframes (D) Super computers

An tells the computer how to use

its own components.
(A)\Application software
(B%tihty

(C) Network operating system
(D) Operating system
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Complete the analogous pairs -

Lata Mangeshkar : Singer : : Mithal; Raj:?
(A) Athlete (B) Swimmer
(C) Cricketer (D) Shooter

chapter of Haryana Panchayati
Raj Act, 1994 deals with Duties and
Functions of Zila Parishad.

(A;Jghaptel XII (B) Chapter IX
(CyChapter X

(D) Chapter XVI

displays are sometimes used
by document designers such as desktop
publishing specialists, newspaper
or magazine compositors and other
persons who create high- quahty printed
documents.
(A) Paper-White
(B) Electroluminescent
(C) Plasma
(D) Cathode Ray Tube (CRT)

In which place of Haryana is the Ancient
site of Theh Polar situated ?

(A) Kaithal (B) Faridabad

(C) Karnal (D) Panipat

The mechanical devices that make ur
computer are called

(A) Software (By¢
(C) Program (D)

Which part contains the fractions in
ascending order ?

rdwai
omputer system

11 16 19 16 11 19

B i Ty e

VT ® 1o 10’ 21
16 19 11 19 11 16
©) — 15 21" 12 (D) 21’ 14" 19

Tau Devi Lal Stadium of Haryana is a

-sport stadium for

(A) Football

(B) Hockey

(C) Chess

(D) Multi Purpose Sport

-11- \u\) | V8% (¢0

62.

63.

64.

65.
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68.
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(C) (D) FrmE= '

BTN T Os erfeEn, 1994
amﬁwv&qﬁ%ﬂ 3R wdsat @
Fafta ® |

(A) =93 XI1
(C) JAeg™ X

Y IX
83% 7™ XVI v

qﬁwwﬁa@aﬂtmaﬁsﬁmw
% [fEa s &1 91 8, g0 99 fR
S ® |

(A) TR-TTEE
(B) SeagIyfifEe
(C) &IrsHT
(D) FMe T =@ (H.amA.) 1/
e YRH @ sfamn H i fea e ?
(A B) FHiEETE
(C) T (D) UTTId s
uﬁmgﬁﬂma‘raﬁa@a‘«rﬁh%
FHEATd! & o
(A)mtia‘émt (BY K
(C) Imm O YoTTedt
Faam AR aEi FH R ?

16 19 16 11 19
. 5/:4/19 31 a2 019! 16" 21

16 19 11 19 11 16

© 192112 TR ViR T)
ehamn @1 4% of T Rt
wa 'femm ? |
(A) FeaT
(B) BTl L |°‘)“’/°0
(C) IR %
(D)8 I T

B

=
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69.

70.

"~ (A) Dr. Babu Rajendra Prasad

71.

72.

73.

74.

75.

" (A) Yogeshwar Dutt

The PCsoffer all the functionality
of a notebook PC, but they are lighter and
can accept input from a special pen called
a Stylus or a digital pen.

(A) Notebook (B) Tablet

(C) Handheld (D) Smartphones
The ‘Objectives Resolution’ in the Indian
Constituent Assembly was moved in
1946 by

(B) Dr. B. R. Ambedkar
(C) Pandit Jawaharlal Nehru
(D) Vallabhbhai Patel

The is a swiveling lever mounted
on a stationary base that is well suited
for playing video games.

(A) Joystick (B) Scanner

(C) Digital camera (D) Microphone

The operator takes a number
variables as its input and produc
output of 1 if any of the inputs =

(A) OR (B) ANT

(C) NOT D) ¥

The world famous monurﬁient Taj Mahal
is located on the banks of the river

(A) Yamuna (B) Godavari

(C) Brahmaputra (D) None of the above

Word inserts a when the page
is full and another page is needed.

(A) Soft page break

(B) Hard page break

(C) Semi hard page break
(D) Liquid page break

Who was the first Indian to win a Gold
Medal in the Commonwealth Games ?

(B) Geeta Phogat
(C) Lila Ram Sangwan
(D) Chandgi Ram
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71.

72.

73.

74.

75.
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o e, e
TG A Tr EN & o iy O, RIseH AT
Tessfeet 19 3 a1 TR A GHhd © |

(A) TregT (B)EaeTe

(C) Teeee (D) TIEHH

T 1946 T YA Gy T I 35y T
formar 2w S fomar v o ?

(AY, SL-Te] TSI% T893

(BVAT. &fi. 31, 3rrerga

(C) dfea srEmetaTs T8E

(D) TFeANTS T

L o TR YR TS g
T eI & o difed i wen & fog

(AVATF (B) THT
() fesfiea &g (D)

ST 3T & &9 H =/ 1 Th
TE a1 © 31 1 &1 s fia sarfea st
AR AN H A FETH 128 |

@) O (B) AND
@or

(D) XOR
faa freaa wime asmed e 7d & fFm

o ?
(ap T (B) Teradd
(D) 39U H ¥ B eI

(C) s&gA
FWUH__ ST odl & o TS WU
? 3i gEu 7w aifod g g |
(A) GIT U1 Sh

S S
(C) Tt 7€ U

(D) foafFre I =

Tea MRAIT F g ? i
(A) MY T9

(B) a1 B

(C) el U9 grEaH

(D=t T




76.

71.

78.

79.

80.

81.

82,

The Backspace key erases characters to
the
(A) Top
(C) Left

of the cursor.

(B) Right
(D) Bottom

Individual users have their own desktop
computers, which are connected to one
or more centralized computers called

server.

(A) Monochrome (B) Hub
(C) Network (D) Special

The Italian revolutionary Giuseppe
Mazzini founded a society called
‘Young Europe’ in
(A) Milles

(C) Liguria

(B) Bern
(D) Vienna

Haryana State Institute of Film and

Television is situated at

(A) Manesar (B) Jassaur
(C) Murthal (D) Rohtak
A is a rule concernir .at

kind of data can be entered in © L.
(A) A constant rule

(B) Variable rule

(C) A data-validation rule

(D) A data-truncation rule

Haryana Govt. launched this scheme in

2014 for activity oriented Iearnipg

(A) Mukhya Mantri Shiksha Deeksha
Yojana

(B) Shiksha Pariyojana Abhiyan

(C) Mukhya Mantri Sarva Shiksha
Abhiyan

(D) None of these

1is a non-metal but it is lustrous.
(A) Chlorine (B) Bromine
(C) Iodine (D) Gallium
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Direction Q. No. 83 and 84 :

In the following questions, groups of four words
are given. In each group, one word is correctly
spelt. Find the correctly spelt word.

English Language

83. (A) impromptue
(B) illustrious -
(C) illusery

(D) impatuous (/

84. (A) colaborate
(B) comemorate
(C) colate
(D) chocolate v~

Direction Q. No. 85 and 86 :

In the following questions, choose the appropriate
word from the given options to complete t¥
sentence. The options given are confv
words which may have similar meanings,  .ect
the option which best fits the meanine of the

sentence.

85. Theywantedto____2a child as they were
childless.
(A) adept
(B) adapt
(C) adorn
(D) adopt?”

86. The leader is a person of refined
who can patiently solve the problems of

his people.

(A) gensitivity

(B) sensuality

(C) sensibleness ¥
(D) sensibility

87.

88.

89.

90.
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fa=t vt
9, % g, 5 T’
fwfFai |
(A) =l

T el

(B) F

(©) F=o v

(D) 3R

- d qe org | e SIS
foramd 9SSl € |

.(f_\)ﬁ

®) T

(C) &
(D) =1

qeAT T 9 R, S WIEaTEE 991 €Y
2

(A) T&TE L~

(B) &l

(C) TR

(D) ¥ ¥ IS T

vrea o T8 §9 A U o v @ arfer 2
TSI B, 3 R HEQ B ?

(A) a=

(B) =Tt

(©) frm

(D) ¥ & 1S T
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